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QUESTIONS

1. What are the main contributions to the variance of the Q resolution for a SANS instrument?

2. What is the advantage of using slit collimation instead of circular apertures? What is the disadvantage? 

3. How is the effect of smearing taken into account during data analysis? 

4.  In going from SANS to VSANS, how much lower is Qmin? 

5. What is the neutron trajectory for long wavelength neutrons?

6. What are overkill apertures used for? 

7. What is the main drawback of a USANS instrument?

8. How is slit-smearing corrected for? 

9. The effect of the SANS instrumental resolution is worse at low-Q or high-Q?

10. Is the orientation of the scattering pattern from the kangaroo tail tendon (in reciprocal space) parallel or perpendicular to the orientation of the fiber (in real space)?

